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COMMERCE

(Skill Enhancement Course )

Answer the Questions from any one Option.

OPTION-A
Paper : COM-SEC-3014
( Entrepreneurship )
Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed - 1x4=4
O™ SRRt e fagy o

(@ Who advocated the concept of

innovation in entr urship ?
eprene
T SRS R g G I TR

(PN onfesgy

Contd.



to remove the

(b) Su est e
SECSK one. mick Rk inesses.

problems of g, 411 bUS

T T s A O
SHPRCET |

(¢) Write the full form of DICC.
DICC-T sjsf mopcst 71|

(d) Mention one component of Business
Plan.

PN ~Reamig @ Bamie oead 1|

2. Write short answer : 2x3=6

oy ©ed foral ¢

(a) State two differences between Social
entrepreneur and Business entrepreneur.

AT SOl i JPNEE SOINIT Ao
75 eften B |

(b) State two problems confronted by the
small tea growers in Assam.

S T BRSO ot Szl 1
WW%‘IW| Vi

(C) Mention twOfCOI’ltentS of a business
plan. ,

Dol g o 7B Bt S 1
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3.  Write answé'” 5x2=10
AN
v U :
(aq) Write about JIVe essentiq] qualities of
an entrepleletr.
qo P SOOI ishy ORISR 2T ]
@ Bl

(b) Highlight five contributions of small and
medium scale entrepreneurs in the
development of Indian economy.

wied AT RIMe Fw Wi Toem
ST Sl AR SO PNEe) SRS
3 vife &l

4. Write answers to.the following : (any three)
10x3=30

o R (RO s e o ¢ (Rt o)

(@) What is Rural Entrepreneurship ? What
significant rgle can the rural
entrepreneyrs play in economic

development of our country ? Discuss.
2+8=10
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(b) State five chapgcterist

(d}

(e)

cs to understand
nterprises. Giy,,

the nature all €
of sm ses With the;,

Jive types of small enterP!

.

characteristics. >*+5=10

1 | RS vy A @ T TP K
SISO 1 |

What is Business GTQUP? What is
Family Business ? What are the major

features of family business ?
2+2+6=10

I (o [ T B2 AT om
& 2 sfRaTolfEs GRS T @B F

What is understood by business
incubators ? Write about the features
and functions of business incubators.

2+8=10

TS CCIRE et & qani 2 aonife

SrrEes (IR OIS rere e R
forail |

What is plant location ? What is plant

lay-out ? Plant lay-out aims to achiev

certain objectives, What are those?

2+2+6’1O |
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() What i8S Resource Mobilisation ?
Categorise the resources needeq Cbaia
up a business. 2+8=10

e TR N &5 2 Gt qemig wrsfia
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